In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafaa vy & Ry o7 fowedt # @ uy RE
(?) & TUE W HA awell TEA A [T

2 | 5|7
3|14 | 4
8 3 2
48 | 60 | ?

Options:

1) 56

2) 42

3) 54

4) 50

Correct Answer: 56
Candidate Answer: 56

QID: 102 -
How many triangles are there in the given figure?

& o s 3 Reed Rage ¥

Options:
1)4

2)5
3)6

4)3
Correct Answer: 6
Candidate Answer: 6




QID: 103 -

A word is represented by only one set of numbers as given in any one of
the alternalives. The sels of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its cclumn, for example, ‘D’ can
be represented by 02, 30, elc., and ‘Z’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “TANK".

UE QRE dael Wh g GR1 gtar s € Star 5 Rwed F @
fosdt wes # far mmr &) Rwedl # By oo dwmr-mag dant & e
T gefT U ¥, S 6 Bu v &) amegEr A ¥ AeEl oW i
Ui T e 0 @ 4 § 3R RN 5 T 91 39 HegEr U Uh HaR
N Ugel 3R RS IR g I I TEAT ERT GV S @
BROT & T ‘D' T 02, 30, TG GRY S ST Ahedl § aYr ‘22 &l 00,
77, A1 ERT AT ST ¥ahal &1 38 e d JUd oy A GU g
“TANK” & T W = TsaEar &

Matrix-I Matrix-l
3Tl Kiiied|
0[1]2]3[4 5(6]7]89

0|z|O|D|W|X 5|A[V|X[T|U

1G|M|[N[H|V 6|K|M|[O|P|S

ZIEIO|Y|K|T 7IC(P|Z|A[|D

3|D|G|W|L|R 8|F|H|J|L[N

4[AJE|UIN|K glulJd|Q|V[X

Options:
1) 24, 40, 12, 86

2) 11, 55, 89, 23
3) 58, 78, 12, 44

4) 24, 55, 43, 34
Correct Answer: 58, 78, 12, 44
Candidate Answer: 58, 78, 12, 44

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% IO gl # W IH IR PG Bl A
form & wyr ampia Bfea &

=




Options:

1)

Correct Answer:

Candidate Answer:

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

Hid HT 39 HBIA U AP & UaST Bl QI
TIIN?




Options:
1)

2)

3)

4)

Correct Answer:

N

Candidate Answer:

]
a

QID: 106 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify T SOUT FF AB ¥T WY T@T AW, A & T
o Aigpfaar # O wla W gl v sl &

Tl ufafeea gefre

Ak B




Options:
1)

2)

3)

4)

S ¥ ©] ©

Correct Answer:

&

Candidate Answer:

&

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

#r & wy agfadl # REmw 3WgER wee @
HizRY el T Wt & a1g 7% BRE IR Al
Sar fear qon?




Options:
1)

2)

3)

4)

0,0
o° %o

Correct Answer:

00
00

o 0

Candidate Answer:
Oo c,O
00
O 0

QID : 108 - If 'A' means '+', 'B' means '+', 'C' means 'x' and 'F' means ', then
33B11A2C4="?
Tfe A 1 3 ', BT 3nef '+, 'Cr T 3 ' T ' et @ ' g, Y

33B11A2C4="?
Options:

1)6

2) 10

3)11

4) 12

Correct Answer: 11
Candidate Answer: 11

QID:109-If9S9A3=27and4S3A2=6,then5S2A5="7?

IfT9S9A3=27TU4S3A2=6T,A552A5="2
Options:

1)4

2)6

3)1

4)2

Correct Answer: 2

Candidate Answer: 2




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Post
2. Page
3. Pant

4. Penny
5. Peal

Fofafed sl @ T H o a1 HH & SR |
1. Post
2. Page
3. Pant

4. Penny
5. Peal

Options:
1) 23541
2) 23514
3) 23415

4) 23451
Correct Answer: 23541
Candidate Answer: 23541

QID : 111 - In the following question, select the missing number from the given series.
5,8,13,20,?

fafared gy # fou T iwed! & S g@ oie 9d Sl

5,8,13,20,7?

Options:

1) 29

2)27

3)28

4) 30
Correct Answer: 29
Candidate Answer: 29

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, FI, KN, ?

TP A faa T 8, R ¥ U ue gw 81 Ry T faswedt § § 9% 9et faden TR, S e n B @ B

AD, FI, KN, ?

Options:

1) PR

2) PS

3) QR

4) QS

Correct Answer: PS
Candidate Answer: PS

QID : 113 - In the following question, select the odd word from the given alternatives.

FrafoRad uy & fau Y fawed! & & fawm wss & gl
Options:

1) Office

Eguie

2) School

faamem

3) College

4) University

[EEIEEIRE

Correct Answer: Office

Candidate Answer: Office

QID : 114 - In the following question, select the odd number pair from the given alternatives.

fFufafaa uy @ fev e fosadi 9




Options:
1)9-27

2)8-24
3)11-33

4)5-25
Correct Answer: 5 - 25
Candidate Answer: 5 - 25

QID : 115 - In the following question, select the odd letters from the given alternatives.
FProafafad uy & fiu T el # 9wy siexi & ghul

Options:

1) ADG

2) HKN

3) QSV

4) ORU

Correct Answer: QSV

Candidate Answer: QSV

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Carnivorous, Lion, Goat

I8 @ R S R Ry T ol & d= F ey BT 98 e wear
ArAERY, W, IHH

Options:
1)

00
O‘

3)

©

4)

Correct Answer:

@

Candidate Answer:

QID : 117 - In the following question, select the related word pair from the given alternatives.

Rain:Clouds::?:?
Frofafed vy # fow Tu e ¥ & J6fa ws gm 3 gl
af. A= o200 (e e T e T = N /




Options:

1) Summer : Season

o : Bg

2) Heat : Fire

Tt : sty

3) Winter : Mountain

i : UETS

4) Heat : Cold

miff : g

Correct Answer: Heat : Fire

i : ey

Candidate Answer: Heat : Fire

QID : 118 - In the following question, select the related number from the given alternatives.
12:168::14:?

Frafifed ny # fau e fawedl & @ dafta den a1 g

12:168::14:7?

Options:
1) 225

2) 224
3) 230

4) 222
Correct Answer: 224
Candidate Answer: 224

QID : 119 - In the following question, select the related letters from the given alternatives.
EGO:FHP:: MAN:?

Fafafed e § fog T fGwedl 4§ wefia eert &1 gfu

EGO:FHP:: MAN:?

Options:

1) NBP

2) NCO

3) NBO

4) NCM
Correct Answer: NBO
Candidate Answer: NBO

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.

MONOPOLISTIC
frofafad fowedl # @ 98 Xss AT of 3T 71U Weg & 31eRT &7 TART SXP el I911 S Gaoa|

MONOPOLISTIC
Options:
1) MONO

2) LIST
3) LOOP

4) HOLISTIC
Correct Answer: HOLISTIC
Candidate Answer: HOLISTIC

QID : 121 - Ram starts walking from a point. He walks 6 km to the north. He then turns east and walks 8 km. He then turns south walks 4 km. He then turns west
and walks 6 km. In which direction is Ram from his starting point?

I TP g T T RY FRaT 51 T8 6 5., IR B 3R Iwra 31 R 9% Ul 31 3R g 8 .1, Twrar 31 R 9% SR Bt 3iR geaw 4 5., gaar g1 R 98
U3 Bt ok geae 6 3.1, Taar 81 I o R fig § fore faxm & 82

Options:

1) North-East

FIR-gd

2) East

3) North
3R

4) South-East
fRmr oA




Correct Answer: North-East
SR

Candidate Answer: North-East
FWgd

QID : 122 - Lemon tree is 13t from either end in a row of trees. How many trees are there in the row?

T Bt U Ul H, g 37 94 S B8R ¥ 1397 31 Ui & fpan ag
Options:

1) 26

2) 25

3) 24

4) 27

Correct Answer: 25

Candidate Answer: 25

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some blue are red.
I1. All red are black.

Conclusions:
1. Some blue are black.
I1. No red is blue.

F T T Uy F $© FU IR I 918 3T U W M1UIRG $B by T U §, FIaife I G w1a ad @ e 81 od 51 i e ug ek iR feifa
X o fau T B & Freap, o MU Ul & SR W gl 3

hLAPEII
L. $% iid 19 &
11 T et et B

frrp:
1. $ =idl B1at B
I1. T8 e =ien T8l g1
Options:
1) Only conclusion (I) follows.
Haa ey (1) Tt 81
2) Only conclusion (II) follows.

sy (1) W& B
3) Both conclusion %follow.

|

4) Neither conclusion (I) nor conclusion (II) follows.
T fmef (1) 7 €1 e (11) T B
Correct Answer: Only conclusion (I) follows.
Faa freed (1) 98 21

Candidate Answer: Only conclusion (I) follows.

Faa Frey (1) 9€ 1

QID : 124 - In a certain code language, "THIS" is written as "UIJT". How is "CARD" written in that code language?

TS fAfRIy Fre YT H,"THIS" & "UIIT" RRaT Sl &1 39 $IS HI H "CARD" &I {5y TR foran smawm?
Options:
1) DBSE

2) BBSE
3) DBTE

4) DCSE
Correct Answer: DBSE
Candidate Answer: DBSE

QID : 125 - In a certain code language, "GET" is written as "32" and "SET" is written as "44". How is "TOO" written in that code language?

TS fARIy FI8 Wi §, "GET" &Y "32" TUT "SET" ! "44" a1 Wil ¥ 39 HI8 YN § "TO0" & {5y U ferar sy
Options:
1) 50

2) 42
3) 44

4) 39
Correct Answer: 50
Candidate Answer: 50

W N e n S e T T A b 2 e o v N I /



QID : 126 - What is the sum of all natural numbers between 1 and 200 which are multiples of 5?

19200 % Teg 3 arelt Tt v SREd St 5 BT AU §, ST AT T 87
Options:

1) 3900

2) 4100

3) 4155

4) 4235
Correct Answer: 3900
Candidate Answer: 3900

QID : 127 - A number exceeds its 1/5 by 44. What is the number?

e TR 30 1/5 W 44 P §| 98 T 1 82
Options:

1) 65

2) 50

3) 55

4) 70

Correct Answer: 55

Candidate Answer: 55

QID: 128 -

What is the value of 22°?

22 T AT Fam B2

Options:
1) 256
2) 1024
3) 65536
4) 8192

Correct Answer: 65536
Candidate Answer: 65536

QID : 129 - How many numbers less than 350 are multiples of both 4 and 3?

350 & 1 Tt bt =Tl & S 4 qUT 3 ST BT U 22
Options:
1) 29

2)31
3) 30

4) 28
Correct Answer: 29
Candidate Answer: 29

QID : 130 - If the difference of two numbers is 7 and the difference of their squares is 203, then what is the smaller number?

T T TSN BT AR 7 & TUT I7h a¥lf BT 3fR 203 &, o BT W 7 32
Options:

1) 10

2)9

3) 12

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 131 - What is the value of 0.00010?
0.00010 T HF T 32

Options:

1) 1/1000

2) 1/10000

3) 1/100000

4) 1/100
Correct Answer: 1/10000




Candidate Answer: 1/10000

QID : 132 - A can do a piece of work in 12 days. He worked for 3 days and B finished the remaining work in 48 days. B alone can do the whole work in how many
days?

A & &Y 12 G O R T 31 39 3 e wrf foran qan A9 & B 3 48 A o w1 o B srdbar @ i Y foba fatt o 1 o) 82
Options:

1) 6|4

2) 56

3)52

4)72

Correct Answer: 64

Candidate Answer: 64

QID : 133 - If 4/7% of a cistern is filled in 32 minute, then what is the time (in minutes) needed to fill the remaining part?

T < BT 4/7-af HIT 32 firFie T 4R W1 8, O 9 U AT &1 4R | T wo (e ) @i
Options:

1) 24

2) 16

3)18

4) 28

Correct Answer: 24

Candidate Answer: 24

QID : 134 - If the ratio of the volume of two cubes is 64 : 27, then what is the ratio of their edges?

g Tl & ST BT U 64 : 27 §, T DT Yoaft BT SRUT 31 82
Options:

1)4:3

2)16:9

3) 64 :27

4)4:9
Correct Answer: 4 : 3
Candidate Answer: 4 : 3

QID : 135 - A trader allows two successive discounts of 20% and 30% on selling an article. If he sells that article for Rs 1400, then what is the marked price (in Rs)
of the article?

T b forell avg Y S T 20% TUT 30% D1 & i Fe adl 3| e a8 T9 a%g BT 1400 T H S9aT 3, 1 a%g BT 3ifed I (3 H) | R?
Options:
1) 2500
2) 2800
3) 3000
4) 3050

Correct Answer: 2500
Candidate Answer: 2500

QID : 136 - The marked price of an article is Rs 720. A shopkeeper gives a discount of 20% and still makes a profit of 20%. What is the cost price (in Rs) of the
article?

TP X P Hfpd Ged 720 T &1 SHMER 20% BT Fe &1 © 7T R 2t 98 20% BT MY HHT 81 9% 1 50 Hed (T H) T 82
Options:
1) 480

2) 560
3) 450

4) 600
Correct Answer: 480
Candidate Answer: 480

QID : 137 - The ratio of two numbers is 2 : 9. If their difference is 70, then what is the smaller number?
<1 TRemell T U 2 ¢ 9 B 1 TS ST 3faR 70 B, B W= | 72

Options:

1) 15

2) 20

3)25

4) 30
Correct Answer: 20
Candidate Answer: 20

W N e n S e T T A b 2 e o v N I /



QID:138-If 3A = 2B = 12C, then whatisA: B : C?

g 3A=28=12CH, WA:B: CHRNY?
Options:
1)10:5:2

2)4:6:1
3)4:6:5

4)2:5:10
Correct Answer:4:6:1
Candidate Answer: 4:6: 1

QID : 139 - The average of 35, 37, 39, 41, B, 45 and 47 is 41. What is the value of B?

35, 37, 39, 41, B, 45 TUT 47 &I 3T 41 §1 B &1 HIF a1 82
Options:

1) 42

2)43

3) 44

4) 45

Correct Answer: 43

Candidate Answer: 43

QID : 140 - If chairs are bought at Rs 1500 each and sold at Rs 1200 each, then what will be the loss percentage?

afe; PRI B 1500 T Ul HE ) R F W 1200 T i Hf B @3 F 3= f&ar v B, &) g1 ufawra < geme
Options:
1) 10%

2) 20%
3) 25%

4) 35%
Correct Answer: 20%
Candidate Answer: 20%

QID : 141 - If the rice is sold at Rs 66 per kg, there would be a 10% loss. To earn a profit of 50% what should be the price of rice (in Rs per kg)?

g A1aa B 66 T Ui .31, R Y = Wa1 R, dl 10% B 1 BRI 50% BT AH U PR & ¢ a1 o1 fRipd g (3 i .3, #) o g aifgee

Options:
1) 110
2) 105
3) 108
4) 112

Correct Answer: 110
Candidate Answer: 110

QID : 142 - If the price of an article is decreased by 33.33%, then to restore its former value the new price must be increased by what percent?

Ife fordt avg & e | 33.33% 1 B 3 SR B, A UG & e BT S I8 & Y T g § e wfowid 9 9fg e gt
Options:
1)33.33

2) 50
3) 20

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 143 - If the price of a commodity is decreased by 30% and its consumption is increased by 40%, then what will be the percentage increase or decrease in the
expenditure of the commodity?

TH T B! DI 30% FH 51 9K ¢ TUT IS T 40% 9 S &, df 9% W W H fve ufarwra &1 gfeg an &t giire
Options:

1) 2% decrease

2% B HH

2) 2% increase

2% B gia

3) 12% increase

12% &t giak

4) 12% decrease

12% ®1 HH

Correct Answer: 2% decrease

2% 1 HH




Candidate Answer: 2% decrease

2% Bt B

QID : 144 - Mahesh can cover a certain distance in 24 hours if he walks at the rate of 10 km/hr. If he covers the same distance by a car at the rate of 16 km/hr,
then what is the time (in hours) taken by him?

R Afg 10 fob. 1. et @t i @ Ta <o 98 ve T gt 24 U W 9 ) Wendr 71 Al 98 T gt & Y ¥ 16 .. /eer 31 1fa I 77 a1 8, A SWdb g forn
T Y (e ) T 82

Options:

1) 12

2)9

3)15

4) 18

Correct Answer: 15

Candidate Answer: 15

QID : 145 - A man travels 1 hours of the journey at a speed of 50 km/hr and remaining 4 hours of the journey at 60 km/hr. What is the average speed (in km/hr)
of the entire journey?

e ‘SaferT G T 1 Eel, 50 .. /ger ot i ¥ qur AW 4 19, 60 .. /Her 1 1fa I 7 Bar 3| gegef amn o eira i (.. eer ) T e
Options:

1) 55

2) 58

3) 56

4)57

Correct Answer: 58

Candidate Answer: 58

QID : 146 - An amount becomes 5 times in 8 years when kept in a scheme of simple interest. In how many years will it become 16 times?

T YRR FTEROT ST ITett Ao & 3= 33 IR 8 a8 & 5 71 81 Sl 81 98 16 T e st & g1 Siwir?
Options:
1) 16

2) 30
3) 24

4) 28
Correct Answer: 30
Candidate Answer: 30

QID: 147 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

d=r & e arferesr # a¥ 2008 @ 2015 TE o
el A daT BH =l gT gufedr argar & weam

&I SRATAT T4 T
Year/a¥ | CityA/gTA | CityB/IgIB
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

In city A, the percentage change in the number of two-wheelers stolen in two consecutive years is maximum in which year?

TR A H, UFT <l aut § IR gu gufean areH! &t e & ufowa ufad ey af & siftian g2




Options:
1) 2009

2) 2013
3) 2015

4) 2011
Correct Answer: 2009
Candidate Answer: 2009
QID: 148 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

dr & @ oiferer # a¥ 2008 @ 2015 T &
e A T BH =l gu gufedr argat i wem
T SATAT T

Year/a¥ | CityA/gTA | CityB/eIB
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

The number of two-wheelers stolen in city B is what percent of that of A in year 2014?

Y 2014 B TER B H IR §U gURAT aTEH &I BT R A i fave1 Ufo=id 82
Options:
1) 120

2) 87.5
3) 135

4) 175
Correct Answer: 120
Candidate Answer: 120




QID: 149 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

drr & o o & af 2008 @ 2015 TF @
A A AT BH =l gr gufear argat & @@
T EATIT A T

Year/a¥ | CityA/ugTA | CityB/ I B
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

What is the average number of two-wheelers stolen in city A in the given period?

&S ol 7, TR A 7 =R §U gulean areHl 1 SiRea T a4 @
Options:

1) 179

2) 182

3) 188

4) 196

Correct Answer: 188
Candidate Answer: 188
QID: 150 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

R & e diferem # a¥ 2008 @ 2015 dF ar
Al A dUr BH =l gu guitan argal 1w
T ERATAT I B

Year/a§ | CityA/S@TA | CityB/gIB
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

In which year, the total number of two-wheelers stolen was maximum?

forg el #, I g gufean areHl @1 $o TE Wa S 82




Options:
1) 2009

2) 2010
3) 2013

4) 2015
Correct Answer: 2013
Candidate Answer: 2013

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He added that his previous employee (1)/ in Lucknow never paid him on time (2)/ or gave him his full dues. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

That was all they had to (1)/ pay, no water, electricity (2)/ nor other bills. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

On the occasion of Ganesh Chaturthi the Guptas bought a new house.
Options:

1) prosperous

2) auspicious

3) official

4) fortuitous

Correct Answer: auspicious
Candidate Answer: auspicious

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He_____ office late that day.
Options:

1) reached

2) was reached

3) reaching

4) is reach

Correct Answer: reached

Candidate Answer: was reached

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Urge

Options:

1) Depress

2) Discourage

3) Divert

4) Impulse

Correct Answer: Impulse
Candidate Answer: Impulse

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abrupt

Options:

1) Deliberate

2) Gradual

3) Sudden

4) Regular

Correct Answer: Sudden

e AI Ml A emmeerman NAlilaeain




QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scream
Options:
1) Cry

2) Whisper
3) Hum

4) Murmur

Correct Answer: Cry
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Astonish
Options:
1) Surprise
2) Shock
3) Startle
4) Calm

Correct Answer: Calm
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Persuade
Options:
1) Advise
2) Affect
3) Assure
4) Prevent

Correct Answer: Prevent
Candidate Answer: Prevent

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Coarse
Options:
1) Cheap
2) Common
3) Foul

4) Gentle

Correct Answer: Gentle
Candidate Answer: Gentle

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

No ifs and buts
Options:

1) Jubilant

2) Low spirited
3) No doubts

4) Screaming

Correct Answer: No doubts
Candidate Answer: No doubts

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In deep water
Options:

1) In great difficulties

2) With strength and fury
3) Using unfair means

4) Struck by thunder

Correct Answer: In great difficulties
Candidate Answer: In great difficulties

QID : 163 - Improve the bracketed part of the sentence.

It was a formidable challenge that they (offer) going into the Glasgow championships.
Options:

1) offered

2) offering

3) will offering

4) No improvement

Correct Answer: offered

Candidate Answer: offered

W N e n S e T T A b 2 e o v N I /



QID : 164 - Improve the bracketed part of the sentence.

This rivalry is (prove to) be extremely beneficial for Indian badminton.
Options:

1) to prove to

2) proving to

3) proving by

4) No improvement

Correct Answer: proving to

Candidate Answer: proving to

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A person whose profession is to keep accounts.
Options:

1) Secretary

2) Treasurer

3) Accountant

4) Office boy

Correct Answer: Accountant

Candidate Answer: Accountant

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A place where clothes are washed and pressed.
Options:

1) Foundry

2) Sundry

3) Husbandry

4) Laundry

Correct Answer: Laundry

Candidate Answer: Laundry

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Procedger

2) Procedure

3) Proceadure

4) Proceger

Correct Answer: Procedure

Candidate Answer: Procedure

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Livaeble

2) Lieivable

3) Livable

4) Liveble

Correct Answer: Livable

Candidate Answer: Liveble

QID : 169 - Rearrange the parts of the sentence in correct order.

The magnitude of stress

P: individual's operational style
Q: environmental forces or an
R: is determined by the
Options:

1) PQR

2) RPQ

3) RQP

4) QPR

Correct Answer: RQP

Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Time management is the

P: as to make the most of it
Q: technique to use one's
R: time efficiently so
Options:

1) QRP

2) PQR

3) RPQ

4) QPR

Correct Answer: QRP

Candidate Answer: QRP




QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

Brain Drain is an extremely problem
Options:

1) worst

2) serious

3) worth

4) henious

Correct Answer: serious

Candidate Answer: serious

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

in the to this great
Options:

1) solution

2) question

3) attribute

4) idea

Correct Answer: solution
Candidate Answer: solution

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

Engaged in difficult against poverty.
Options:

1) life

2) time

3) struggle

4) period

Correct Answer: struggle

Candidate Answer: struggle

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

They require armies of trained — the scientists,
Options:

1) person

2) personified

3) personnel

4) personal

Correct Answer: personnel

Candidate Answer: personnel

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

If, instead of to the pressesit o€ Tadi
I T N N T e A v ne T



Options:

1) distributing

2) creating

3) insulting

4) contributing

Correct Answer: contributing

Candidate Answer: contributing

QID : 176 - Letter D in GDP stands for in economics.

SR § oR ST reR & P! Ueiid Bar gl

Options:
1) Domestic

2) Devglopment
3) Depriciation

4) Destruction

X

Correct Answer: Domestic

Candidate Answer: Domestic

QID : 177 - Development of humans along with sustaining the ability of natural system is called

WPl o Y &aT B SFIE X F A1y gt 7geat o1 fawr HET Il B
Options:
1) Unbelievable development

2) Environmental development
3) Sustainable development

4) Social development

Correct Answer: Sustainable development
o fam™
Candidate Answer: Sustainable development

Haq [Ae™

QID : 178 - How many types of writs can be issued in Indian Constitution?

YR W3 & fhem UR & e o fbd S wea 82
Options:

1) One

Th

2) Five

"

3) Seven

rd

4) Eleven

URg

Correct Answer: Five
qrd

Candidate Answer: Five
qrd

QID : 179 - In which form of government rulers are elected by the people?

59 TR & U & WG] BT IE A B 82
Options:
1) Aytrocratic

2) De;mocratic
3) Aristocratic

4) Monarchic
RIEGE]

Correct Answer: Democratic

Candidate Answer: Democratic




QID : 180 - Where is the famous rust-resistant iron pillar located?

TR ST OfeRieh diie wiH el W R 87
Options:
1) Mysore

2) Delhi
faeett

3) Hyderabad
LRI

4) Kolkata
ARG
Correct Answer: Delhi

Candidate Answer: Delhi

QID : 181 - When was Indian National Congress established?

YR TP HIUT B R0 59 o # g3 9
Options:
1) 1880

2) 1885
3) 1890

4) 1895
Correct Answer: 1885
Candidate Answer: 1885

QID : 182 - How is the shape of Earth described?

7ot & PR HY BT TN I 82
Options:
1) Circular

2) Oval

JTTHR

3) Oblate Spheroid
IUCT SASTHR

4) Spherical
TAHR

Correct Answer: Oblate Spheroid
el 3SR

Candidate Answer: Oblate Spheroid
YT STHR

QID : 183 - The Ural Mountains in Russia are which type of mountains?
9 H WA ydd b9 UBR & Udd o7
Options:
1) Old Fold Mountains
Iferd gda
2) Young Fold Mountains
a1 aferd udd
3) Block Mountains
YRR Tdd

4) Volcanic Mountains
Correct Answer: Old Fold Mountains

Candidate Answer: Young Fold Mountains

a1 aferd wdd

QID : 184 - Which is/are not biotic components?
I. Plants

II. Rocks

II1. Air

e A o1 B9 gew e 82
L O

11 9
1L 91g




Options:
1) Only I
Paq 1
2) Only II

Paq 11

3) Only III

Had III

4) Both II and III
11 9T 111 &Mt

Correct Answer: Both II and III
11 T I11 g1

Candidate Answer: Only II

FHad I

QID : 185 - Germs entering the body through food are mainly killed in the region of alimentary canal where pH may reach the level

It & H1egd ¥ YRR F Ugan a1 Bl SMER 1 & &5 § IR S § i ag! did &l &R T Ugd ST B
Options:
1)2

2)7
3) 14

40
Correct Answer: 2
Candidate Answer: 2

QID : 186 - The life span of human WBC is normally

Ha S, & . B e Sita rafdy 2l
Options:

1) 5 - 21 days

5-21f87

2) 45 - 50 days

45 - 50 &

3) 100 — 110 days

100 - 110 f&A

4) 6 — 8 months

6 -8 TR

Correct Answer: 5 - 21 days
5-21f

Candidate Answer: 5 — 21 days
5-21f8F

QID : 187 - Material which allow electricity to pass through them are of electricity.

o e o SR fged YR BT UaR EM 3 ed R
Options:
1) Insulators

fagaa Ju®

2) Conductors
EINED

3) Dispersion

4) Refraction
e

Correct Answer: Conductors
EIGED

Candidate Answer: Conductors
EINED

QID : 188 - What are the objects like the sun that emit light of their own called?

S T GE 1 ORE W TBT BT ISl B & I T B 87
Options:
1) Transparent objects

ay]
2) Opaque objects
ORI

3) Translucent objects

¥

4) Luminous objects
g fis a¥g
Correct Answer: Luminous objects

i fiis axg




Candidate Answer: Luminous objects

i fifg a¥g
QID : 189 - Which among the following is portable and easy to carry?

fofafad & & oF Uidad au g § S 82
Options:
1) Super computer

YR DR

2) Mini computer

foreft e
3) Laptop
ety

4) None of the_se
Corr;ect Answer: Laptop

Canslidate Answer: Laptop

QID : 190 - Intermolecular space is the least in

SIRT-3HU[eh e W T 7 R
Options:

1) Water

ot

2) Steam
g

3) Ice
TH

4) All of them
EREEEl

Correct Answer: Ice

Candidate Answer: Ice

QID : 191 - The formula of quicklime is .

fgEngeTgneIE gl
Options:
1) Ca(OH),

2) CaFp
3) Ca0

4) CayCO3
Correct Answer: CaO
Candidate Answer: CayCO3

QID : 192 - Which among the following is not a Abiotic component of an ecosystem?

o 7 9 S a1 uRkad 31 U 39d Ued ol 82
Options:

1) Temperature

GLE)

2) Forest

a1

3) Wind

g
4) Soil
Hal

Correct Answer: Forest
qaq

Candidate Answer: Forest
aq

QID : 193 - Pradhan Mantri Awas Yojana is launched with an aim achieve housing for all by the year

YA SITATT TISHT BT YHIRY T e Tt & T STy ¥ Ted Y I A & forw foba mar 31




Options:
1) 2019

2) 2020
3) 2022

4) 2024
Correct Answer: 2022
Candidate Answer: 2022

QID : 194 - Which of the following was discovered by W.C Roentgen?

T, W, JeoH gRT Fefiied & ¥ faua! 9ie ot T8 A
Options:

1) Washing Soda

TIRAT ST

2) X-rays
TR

3) Telegraph
darR

4) Submarine

Correct Answer: X-rays
TR

Candidate Answer: X-rays
TEg

QID : 195 - Who became the first Indian to score a triple century in Tests?

e T eV Iaw S a1d Ugd YR BIF g7
Options:
1) Sachin Tendulkar

2) Virender Sehwag

ERERRER

3) Rahul Dravid

g &g

4) Karun Nair

62U AR

Correct Answer: Virender Sehwag
IR ggam

Candidate Answer: Virender Sehwag

CIREREER|

QID : 196 - Stiched clothes such as salwars, kurtas, topees, etc were brought to India by whom?

TAAR, Fal, Sdiet efe; S Rid §U U URd H fhad gRT @me Te?
Options:
1) Mughals and Mongols
Tal quT Hr
2) Afghans and Turks
ST T T
3) Kushans, Shakas and Parthians
PHIM, S ad1 TIffaa
4) Portuquese and Britishers
quT Sl
Correct Answer: Kushans, Shakas and Parthians
DM, D dYT
Candidate Answer: Afghans and Turks
ST TUT g

QID : 197 - Who among the following is recipient of Rajiv Gandhi Khel Ratna Award 2017?

Frafifed & S ol T Se 3@ REPR 2017 & Webd 82
Options:

1) Sardar Singh

WeR Rig

2) Roshan Lal

A A1

3) V.J Surekha

4t 9. g

4) .Bhupender Singh

Correct Answer: Sardar Singh
TeR R




Candidate Answer: Sardar Singh
TER g

QID : 198 - Who is the author of book named "Anand Math"?

"3fHE HS" TS [ B D DI 82
Options:
1) Panini

2) Sarojini Naidu
3) Bankim Chandra Chatterjee
g : i

4) Rabindranath Tagore
Y TR

Cprreg:t Answer: Bankim Chandra Chatterjee

(;andigiate Answer: Bankim Chandra Chatterjee

QID : 199 - India had signed a deal with which gulf OPEC country that allows it to fill half of an underground crude oil storage facility at Bangalore, Karnataka?

W%meﬁuﬁ.xﬁ. (30 T F Y TH T R TWER 51 8, o SRR, Ficsd § UEFT o=t 9d HSRU Bt Yfaer o1 e fGwn 1A 31 3oerd UeH
PRl gl

Options:

1) Saudi Arabia

BRTAREC]

2) United Arab Emirates

TG 3R

3) Iraq

ERCY

4) Iran

Cprrect Answer: United Arab Emirates
gad 3R
Qandidate Answer: United Arab Emirates

Tgad 3R SHRIT

QID : 200 - Who among the following observes and reports on ceasefire violations along and across the line of control between India and Pakistan?

o # ¥ S YR qUT Wi % s =1 a1 R gEaRm & Ieee 3t FTRE Sedr 8 qur faevor Sar 82
Options:

1) NATO

5 AR AT

2) UNMOGIP

g, T T, o, off. o, .
3) UNESCO

7, T, 3. 7. . .
4) UNCIP

g, T, o, .

Correct Answer: UNMOGIP

g, . ©H. 3. Sff. e, o,

Candidate Answer: [ NOT ANSWERED ]




